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1. REBERHO
(1) FEEINE
EXRBEERLE 0 0 0 0 0 0 0 0
WNEEEERE 0 0 0 0 0 0 0 0
SHMEE 0 0 100, 000 0 100, 000 200, 000 0 300, 000
BEIE 0 0 0 0 0 0 0 0
ZIEMEE 0 0 0 0 0 0 0 0
ZWaiEE 0 0 0 0 0 0 0 0
ZWMHEMAE 500, 000 0 500, 000 0| 1,000,000 300, 000 0 1, 300, 000
SZMHENEIREEE 0 0 400, 000 0 400, 000 740, 000 0 1, 140, 000
U ZE 0 0 0 0 0 0 0 0
BRI 500, 000 0] 1,000,000 0] 1,500,000] 1,240,000 0] 2,740,000
(2) BEER
BB 500, 000 0| 1,000,000 0| 1,500,000 0 0| 1,500,000
TtAS 0 0 0 0 0 0 0
WwHFEL 50, 000 0 450, 000 0 500, 000 0 500, 000
LEERE 5, 000 0 40, 000 0 45, 000 0 45, 000
& 0 0 50, 000 0 50, 000 0 50, 000
SEBE 10, 000 0 0 0 10, 000 0 10, 000
REXBE 12,000 0 300, 000 0 312,000 0 312, 000
BIEE 5, 000 0 50, 000 0 55, 000 0 55, 000
HERE 5, 000 0 50, 000 0 55, 000 0 55, 000
KERRE 0 0 0 0 0 0 0
He# 0 0 0 0 0 0 0
XIFHeH 3, 000 0 10, 000 0 13, 000 0 13, 000
FENEE 0 0 0 0 0 0 0
MRRE 0 0 0 0 0 0 0
EEH 0 0 0 0 0 0 0
AR OEF 0 0 0 0 0 0 0
XILEREN 10, 000 0 50, 000 0 60, 000 0 60, 000
XiBsE 400, 000 0 0 0 400, 000 0 400, 000
EEE 1, 240, 000 0 1, 240, 000
WwHFEY 500, 000 0 500, 000
NxE 0 0 0
REE 0 0 0
=& 30, 000 0 30, 000
REXBE 200, 000 0 200, 000
BIEE 30, 000 0 30, 000
HEME 30, 000 0 30, 000
KENBE 0 0 0
#EE 0 0 0
XIFHeH 10, 000 0 10, 000
r—%& 0 0 0
HWRRE 0 0 0
EEH 0 0 0
AHOR 0 0 0
XL RN 440, 000 0 440, 000
BEERs 500, 000 0f 1,000,000 0| 1,500,000] 1,240,000 0] 2,740,000
LA REEE 0 0 0 0 0 0 0 0
2. BEEIMEBOE
(1) FEHSHIRE
SEF S 0 0 0 0 0 0 0 0
IR ZE 0 0 0 0 0 0 0 0
FENINEEET 0 0 0 0 0 0 0 0
(2) BENER
FENERE 0 0 0 0 0 0 0 0
LR ENMNSEE 0 0 0 0 0 0 0 0
L — AR Ik EA A Ei R 0 0 0 0 0 0 0 0
—BIEREHE RS 0 0 0 0 0f 3,200,000 0] 3,200,000
— BB ESRES 0 0 0 0 0f 3,200,000 0] 3,200,000
I $EEERMEEROE
ZWMHEMAE 0 0 0 0 0 0 0 0
— R IEBREAEEA~DIRE 0 0 400, 000 0 400, 000 740, 000 0 1, 140, 000
L e TR IE bk EA A 1 9 2E 0 0 -400, 000 0 -400, 000 —740, 000 0] -1,140, 000
IEEERMEREERS 0 0 900, 000 0 900, 000 1, 800, 000 0] 2,700,000
IEEERMERRES 0 0 500, 000 0 500, 000 1, 060, 000 0 1, 560, 000
Il IERK XERE 0 0 500, 000 0 500, 000] 4, 260, 000 0| 4,760,000




